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Bl |ndicate the 1257 nested Watson-Crick basepairs (AU, GC, GU cWW) Chain b : 5Sribosomal RNA

I [ndicate the 57 long-range Watson-Crick basepairs Chain a: Large subunit ribosomal RNA
Indicate the 447 nested non-Watson-Crick basepairs Chain A : Small subunit ribosomal RNA
(Includes AA cWW, AG cWW, UU cWW) Chain5: Not listed

I |ndicate the 272 long-range non-Watson-Crick basepairs Chain X : Not listed
Indicate the 4910 stacking interactions ChainY : Transfer RNA

I |ndicate the 218 base-phosphate interactions Chain Z : Transfer RNA

7 Indicate the 282 base-ribose interactions
Indicate 1063 near interactions



